disputants-2op»m ¢

central point for summary and review-771m 212°8% 1127 7P O
insertion of an earlier segment-n»7Ip 7P Hw AR2M <
story-meynO

key-xpn:

statement-8772% o
challenge-8>wnp ¢
question-7oRw A
answer-yYyon !
proof-1R1 m

VW IWRI-MN

Talmud Navigator

Talmud Navigator

hlalal ANRT IRA VO TIAT A X
Fahiitel val
.ROp
.0°379 K91 K122 7PunwT ,)01 °R D791 KW WT XN*22 7O0nwT .Xop
9195 XY :[X2332] 777 N <] xop
22095 RIIN? I L2090 XK9IPH K22 72 AT 20 A9 ROYR AD Xop
07277 RYTII T 27 720X L1 RN?N N2 RO IR WMPOKT ,M002 YAVT K2 RIIAT Rizalzig ot ¢ Xop
PAVIWT RMOR 7IN277 K2 70IXT ,RIN0°AWT RIWIR 1IIPORI 12372 YIURT R RITT ,0M o1l b op
1 awnn N2> : -
IR 199 RIIM? NIAK R RIX ,¥I2 72 770 2270 72WT AR L3090 RP? Xnhwa nnk o \ -
28D TavT ) -
ONNXT XM OIRY B o Xop
797 T RO NORRM o Xop
Y DR T 7197 RDMDT XM VAR 700 KIPRT X7 "7 ! o Xp
.IDN 19N M 7 INWR AR ,INYWA 71 POR 237 0970 1M ! o Xop
LTI0R INWR T 10 179 PRY 172 710 177 W 12,0000 901 - » Xop
.01 WHW NRY 7791 ,2173 MR Y01 IR Twyn Bk taln o ‘- Xop
DMWY DR IRWM QWD RXNW 27 WY ,PIAR 1WA 717 779n2 21207 777w X012 awyn 207 "2 o ‘- Xp
TN 1 120 1R 1930 ROR 0772 N0V R, D07 IMOWHWW TR X0V Twn [oman] om op
.RWIN XY = 702 719N 1A ,8WIN ~ 399N o
PR 227 9727 ,7MOR MWK = MO DD PRY 172 N0 DAY Ww PR ,0M7 701 [&n °27] @127 1N s EY Xp
LTI0R WK T 710 077 PR ,NINM WK T I 0717 WU oM Haljahls] s Xop
2710 a2 WU 2% N7 00 A Xop
PNIMA Y2IRA AR TAWY 9D POIR ! o Xop
707272 R?W 27 720K ,)PR0T RN YauT X123 X7 ol ¢ Xp
hiafalzaliisl ORMYY 20 o Xop
R@2 70 mows [oxmw]:72 mx o XIp
200 IR TNOX MWK M0 377 PRY 2| [PRmen 21]:7h mhw (o] Xop
.0R MWK [X?w 27]:975 nhw (o] XIp
2710 0777 PRY 07 W N0 277 WOW DM, PR0T KR [2xmw 7] o Xop
X7 910 4777 TR oM [R?w 21]:972 mow o Xop
P27 72y ROYY XD M [2xmw 7] (o) Xop
TR LO93 RIRT I, R, AT 710 D2 WO DM T NPPY NPT 11D 2120 KIX LRIV RYON o o
99K 93 -
IR 92 Pr7Y0 ANRY K2 (™ Hwn)| 277 Y SR My o XIp
PYP M Avwm (K™ Swn)|  ORmwT by a1 O XIp
1 Tmy NXOp7 nim!



disputants-2op»m ¢
central point for summary and review-771m 212°8% 1127 7P O
insertion of an earlier segment-n»7Ip 7P Hw AR2M <
story-meynO
key-xapn:

statement-8772% o
challenge-8>wnp ¢
question-7oRw A
answer-yYyon !
proof-1R1 m

VW IWRI-MN

Talmud Navigator

Talmud Navigator

hmlakal ANRT IRA i I I e T S Ny B S e B
AR RDY A0 YPWY L0037 DW 3271 omn TR 01911 ,777°2 N0 PIndn TR 212 w1 Awyn
SW ANND 731 300 AT A 0% TINA YT K1 WO RXNW 27D 120 7w a9 Sw anno 227 MR LR o 0 Xop
N7 TIN2 172 TOON R¥M KAV L7000
0K INWR = M0 377 PRY NN INWR T M0 0777 WIW D ARY 0790 12T 279173 719D Rl - O Xp
Q37 HW TR Wik ml Mo on W o o0 R B3 Xop
RMOW XY D37 YW 7201 ,710 on? WOw 0ona ! O Xop
X LR? 71277 R2NT 92X ,XNDYT WOIRA V97 237 ,TMOR WK A0 477 PRY 07 17327 1IART X -
DYR 20 [ Xop
770 R X9p - 20T
.R9 791009 1R 72V°7 L1327 R2MT XIW XYY RADYT WOIR RIW KD X7 R ¢ Xop
NI ,7AW DN TM2N DY WA NP ,TIAWIW NAR 72900 MR 717002 200 N DR OV
71°90 DW A7 07 MR 27997 1,212 112 N6 19972 2197 17 2w KA ,Aw2 hywa1 RpY 2 - om o op
12 VIV ,07R DY DOVWI IR AR 2790 AR 1R SWR 12 CNwIv vy Raw 731 73 91,00 a1 ’ ’ -
AWK
10 072 PR 2°7 ,NNM ~ 910 D2 WIW 07 AR 077 2T DINT 75D YW ANIN2 NONR
1 ! ’ 1 [5>x09m3 121] - om0 | xop
.77I0K =
,7AW Qo1 2N DY IWuXA NP 22 N9IWAY NAX 7100 NPKMN 71°902 7707 N7 NNX Oy
29 R 27997 7,712 117 DMK L7997 0107 11 2w XA ,X0P0IDR N1TAY SNPHYWI R7 27 1 RPY "R LRI om o Xop
WL IRPAWY 7Y ,10207 172M 112N *1770 92
PRW 2°7 ,NINM MWK = MO 07772 WOW %7 ARW 0730 2127 229173 7R3 YW NI SNNR " =
[®2py *27] [ X3P
70K INWR - 10 0772
LY PTYR T D22 2w ARA N9A7 1Y PTYA PR T NPIR 213 9o) [P"n] ;132710 o .XOp
RT3 RAW W L0V PTYA PR T 2220R 0OWNA ARYR 7000 AR :RPNA 12 A7 0 o Xop
%"m '
: o Rop
170 0PI RN 23R [P"n] 0 NP
PHY PTYR T 1AW 10 AR 707,10V TV T WRT Tw2D TN o1 Ri=pRiy o Xop
7207 RYIW °307 YOV PTVA TR T 1 90,100 RIW 0101 POV PTYA T Y v MR ROR 020 0Wn -0 Xop
YA 19107 7297 1NN 17 1R o Xop
21 17 MR Hoaw TR Awyn SRR O 0 O|<|xp
.D°01 TWYA P PR[:PRA 227919 1R R0 m.0 NP
70°01 TWYN RN A Xop
NWIR RD1 990R K97 XK ! Xop
NN PRI 73RN XY 29Y 13 (7 INOK) :2°Nom i Xp
01 X97 R9R ! O Xop
LANHRY WO MR PRA T O AwhY WK ROW y1w I 727 IART Il O Xop
XAV ORD PR 22N i Xop
7 9% A DY 157 :RID il o Xp
23aM B3 Xop
N RYWT [1227] ! 0 Xop
2 Tny NXOp7 nim!



disputants-2op»m ¢
central point for summary and review-771m 212°8% 1127 7P O
insertion of an earlier segment-n»7Ip 7P Hw AR2M <
story-meynO
key-xapn:

statement-8772% o
challenge-8>wnp ¢
question-7oRw A
answer-yYyon !
proof-1R1 m

VW IWRI-MN

Talmud Navigator

Talmud Navigator

hmlakal ANRT IRA o} vnITYaT7T32 X
m" N Xop
RN 011 PI0R RYT KK [xnoan]| ! O Xop
TIWRI AYW ,R01T 12 K177 2277 WO IR, 2177 120 7903w Pow 90 RO YW N2 Iwyn
TIRR 27995 91 )N 1D MR LANRY [0 MR T WL 0w 0n IR T I 01w a7 InK 7| [RDIT 12 R1M30 027] 0 o o NP
730 P11 00 AT 20700 Dw 97 R
77NR ®021 17 1R . NP
72 X277 °2]:0n0 MR
YT 12 5w 12 POVAA PITRAW 727 XOR IR K21 12 KDY DIN X021 KD [xom ! O Xop
oy PTPTA KT N2 WITRAY 700 TR 779w 1720201 (3 2°20N0) MR ,XnK 112 N 10 9"YR - - o om
AWWE 03 P70 : -
.°2°20 93 HY RN 727 2WITR TI02 7w 9X ("D 2°9nn) (Xon X197 20 - O Xop
17 751198 WOR N MR O°WAT TR YA 199DR - » Xop
21,7107 RITW P2 2190 WOR IR MN2PD1 71907 172937 1R 277 2R MPINT 12 VAW oR -
. T 020 XOp
71207 1R
MY INITY PR T 71502 770 OX 072010 72w, 710N Riw 0"YR T HRwea :X22 72 970 0 - Xop
IR KD X7 Xop
2179 WIR DR MR 7002 PRI NRPT| HRMW MR A7 20 O Xop
MW 2V 7 WOORT 7 200w K17V R¥Np R1OT ; Xop
.ON7 N7 23790 191 19,407 17 1327 197 12 TMRPT ! O Xop
.21 11507 77 OR 0°2010 72w W< xop
TV INTY T TYAY PI9N1 AR ,1PNAY PIDNIW ROR WW KD ORI MR 700 20 O NP
NIV N Xop
.MTYY PIDNI T - AN0 N , 7PN 11903 17T T INWR DX IRWT DA NP0 WIR AR 17 17250 K3 o1 2 ! O NP
W7 MR N1 MANR
DTV INTTY T YA 10N PAR ,1PNAR 10N XK 1w XY o O Xop
D!
TN ROR NW XY 0777 MR 2077 TWHM 203w oV 0°INAW ,°202 ROVWIRI WY 1 0 XY e
I MY MR o ¢ Xop
Q91 12 177 K21 ,N17Y IMTY T YA 11a03 PaR N
279 NNOWn 3377 MY IMTY PR PI2NK 7°7 oK 0°210 7AW "INPT 107NN KON o 0 XOp
N 797 mPoma ! O Xop
A0 27 720IRY RV 2OW ,OR1A 22 RIX IRA IRV 22 RIK IR IR WARP 70T K77 02 o om
ATy o
R27 RP1PRY A0 27 720IRY 2°0WT RNPTANIDA AT RO RWIDY 7399 N 221 MRp 7177 K77 o o
annaTh o
RO Y2V ,XOM *2 ROR X7 2°IRY WMRP M7 R o XOp
RO M3 19X QPR Jam 2 Xop
DT R2Y 9 1R KDY ,R201K) XOMT 10027 R2IX L1703 277 7712070 [0} O Xop
R = 2°01°K 7aR ,791N2% 9971 037,40 MWK = 710 0777 PR 07 1337 NMART R 730 Y J— o o
I Y pon : o
1707277 AN 27 7201 DINRT ROR O XOp
.RN917 779 MR R9P = 22707 RNR OX ,73°N°K 1727 X123 XON [1am1 27]: k[ O NP
3 Tiny NXOp7 nim!



disputants-27p»I ¢ | statement-7%2% Ll

central point for summary and review-771m 212°8% 1127 7P O challenge-8>wnp ¢
insertion of an earlier segment-n»7Ip 7P Hw AR2M < question-7oRw A
story-meynO answer-y1°n !

key-xpn: proof-1R1 m

QW AWRI-NND Talmud Navigator

hmlakal ANRT IRA i I I e T S Ny B S e B
XD 7771009 PR 72977 727 K023 RD RIW R L7327 X022 RIW R X7 R B3 O Xop
T2 RIPVP = RY R ,RN2W2A ORPA? 2TV RNDDOR 210p HRWH 1399 IR 777 22213 72W X177
A o O Xop
NP %% WA KDY ,NAwa 777 00 WA YR IRRT ORI 12 01199 RIP0PTD
MART MPY ORNRY N7 YR (o] XOp
2937 RNPN ROW o Xop
Talmud Navigator 4 Tiny

NOp nima!



